
Brush drive SD (4135144)

Page 1 / 320.09.2023 Edition: ./2023



Brush drive SD (4135144)

Page 2 / 320.09.2023 Edition: ./2023

Article no. Description Quantity Unit

4135017 Brush base plate 1 PC

4109900 Support 1 PC

4123215 Gasket 1 PC

4108450 Flat belt pulley 192 1 PC

4006530 Socket head cap screw M8x20 10 PC

4008690 Retaining ring 25 A 1 PC

4122440 Gasket 1 PC

4122441 Flanged bush spec 1 PC

4123205 Angle flange 1 PC

4127133 Flange 1 PC

4122705 Brush coupling 1 PC

4117930 Screw for plastic KA50x40 3 PC

4039680 Lubricant synsetral 53B 1000gr 1 PC

4008750 Retaining ring 62 J 1 PC

4079540 Ball Bearing 6007 2RS 2 PC

4122761 Intermediate wheel 1 PC

4088010 Retaining ring 35 A 1 PC

4085760 Washer 35/45x2 1 PC

4134430 Motor 24V 750W 1 PC

4122598 Poly-V pulley 7 PJ 28 1 PC

4083980 Hexagon nut M12 Left 1 PC

4135044 Plate 1 PC

4007270 Hexagon nut M6 3 PC

4122594 Poly-V-belt 6 EPJ 508 1 PC

4135051 Poly-V-belt 11 EPJ 725 1 PC

4109640 Roll 48 compl 2 PC

4135070 Flanged bush 8.1/17/24x37.7 2 PC

4042370 Washer 8,4/21x4 2 PC

4028060 Socket head cap screw M8x50/28 2 PC

4135071 Lever 2 PC

4083310 Flange sock.head screw M8x12 6 PC

4135043 Cover 1 PC

4122696 Buffer 2 PC

4122996 Bolt 1 PC



Brush drive SD (4135144)

Page 3 / 320.09.2023 Edition: ./2023

Article no. Description Quantity Unit
4053660 Hose with wire 12/18 PVC 0,4 M

4042280 Hose clamp 12-22 1 PC

4135276 Holder 1 PC

4023260 Cable tie 200 1 PC

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

